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[I public class HttpSessionBinding implements
javax.servlet.http.HttpSessionBindingListener { ServletContext
application = null. public HttpSessionBinding(ServletContext
application) { super(). if (application ==null) throw new

[llegal ArgumentException("Null application is not accept.").
this.application = application. } public void
valueBound(javax.servlet.http.HttpSessionBindingEvent e) { Vector
activeSessions = (Vector) application.getAttribute("activeSessions").
If (activeSessions == null) { activeSessions = new Vector(). }
JDBCUser sessionUser =
(JDBCUser)e.getSession().getAttribute("user"). if (sessionUser !=
null) { activeSessions.add(e.getSession()). }
application.setAttribute("activeSessions",activeSessions). } public
void valueUnbound(javax.servlet.http.HttpSessionBindingEvent e) {



JDBCUser sessionUser =
(JDBCUser)e.getSession().getAttribute("user"). if (sessionUser ==
null) { Vector activeSessions = (Vector)
application.getAttribute("activeSessions"). if (activeSessions != null)
{ activeSessions.remove(e.getSession().getld()).
application.setAttribute("activeSessions"”,activeSessions). } } } }
10Test O DO OO0 O0OO0OODOOO0O0OOUOOOoOooOOO
www.100test.com



